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void netriv_del(long long int start, long long int finish)
{
    int kolvo, current_del_max, temp,flag;
    for(int i=start;i<finish+1;i++)
    {
        temp=(int)sqrt(i);
        if(temp*temp==i)
        {
            kolvo=0;
            current_del_max=-1;
            flag=0;
            for(int u=2;u<temp+1;u++)
            {
                if(i%u==0)
                {
                    if(u==i/u)
                    kolvo++;
                    else
                    kolvo+=2;
                    if(kolvo>3)
                    {
                        break;
                    }
                    if(flag==0)
                    {
                        current_del_max=i/u;
                        flag=1;
                    }
                }
            }
            if(kolvo==3)
            //if(current_del_max!=-1)
            {
                cout<<"chislo= "<<i<<" "<<"max del= "<<current_del_max<<" "<<"kolvo= "<<kolvo<<endl;
            }
        }
    }
}


